All Continuity is Electron Discrete

       Ode to Einstein’s sense of “continuous” 

He invented a “field” he called continuous”

But getting rid of nothing became strenuous

Spherical material points, say of radius R

Were invented that could interactively spar.

With non-local motion, every R had to spin

To tell which position it was interlocked in.

R ‘s space-time location was it’s energy state;

Marking one’s identity a matter of fate. 

Field position then was “hidden” at quantum levels:

“Visible” required quantum-devouring Devils.

God as Universal Harmony saved the day

All must use least friction so All have equal say:

Things must be bound by electrons to be complete;

Continuity must be electron discrete.

Atoms provide electron storage without end

To bind them into molecules that click on “send”. 

G gives R a spin surface mass, not a spin-volume mass

The minimum energy quantum-carrier material point of radius, R, discretely fills all space-time.  Any and all R-volumes of dark matter must be vibration and spin motion interactive with all other R-size material points that are always spin-touching-- so a state of “nothing-ness” is not possible. Dark matter material points of every conceivable size and shape must fill every imaginable “nook and “cranny. Imagination that struggles to visualize physical reality must be conditioned on faith alone-- to the effect that there can be no “action or force at a distance”. If something moves along a line whether in circular rotation or in back and forth vibration—it must do it in constant spin/vibration touch with other material points that are touching on 6 sides-- for an ever-changing 3-D pre-geometry.

A 3-D spherically closed, infinite universe demands that the spherical surface of every dark matter material point be in local and non-local synchronicity of vibration & spin motion. Motion as measured means R-surface motion that is potentially visible to atom made matter. A very tiny yet all-revealing sample. An atom made object’s visible outer surface is holistically immersed in interactive dark matter-- so that it must spin/vibrate at its outer surface in a touching way that is always motion compatible with the rest of the material point spin/vibration surfaces of the universe. This universal synchronicity is due to Einstein’s continuous field concept that disallows independent material point surface motion that could surface-locally disconnect space and time--to cause an inexplicable tear, or gap of nothing in the continuous elastic-surface-fabric of the universal gravity field. 

 Re-defining mass means starting over in physics

What we call mass is not a volume quality as in volume divided by density = mass, but a surface quality; with it’s depth dimension forever hidden. Mass = R-spin/vibration surface count of hidden ball bearing G-size particles --so that R/G is equal to the 3-axis energy of R. Only 3 dimensions plus time define it’s spherical surface--the insides are by inference only. R comes in of all sizes and is always a self-sustaining gravity field-- with a central black hole (BH) that constantly stir-structures it -- to define mass as a concentric array of electron hosting spin/vibration-surface shells.   

Use the centimeter-gram-second (cgs) system of units of measure just as done in astronomy to this day. For Earth as R, we can use established mass of 1027 grams as the count of Higgs particles forming it’s spin/vibration surface at a radius, R ( 108 centimeter (cm). Then let ME = (3v2)2 = ((R/G)2 = (108/G)2 = 1027. ( is Unit Energy Vector, G  is on the order of 10-6 cm-- or the size of an air molecule at the visible surface seen by the SUN! Earth exists by and only knows the Sun’s volatile surface!

Now look and see why Newton’s constant, G, came out the way that it did at the atom-solid surface of the Earth: G(m=1)ME/R = 3v2, the potential energy of an atom at the solid surface of the Earth. G is then the radius of the typical atom at the Earth’s surface –hence the gravity constant G ( 10-8 cm. The gravity constant is a Higgs particle so Newton discovered it a long time ago and Einstein logically wound up calling his space curvature G ---so his gravity-unified force field equation discovered the variability of the radius G as a Higgs particle. The G-size Higgs particle varies in radius as the least friction ball bearing at the surface of every R-size material point--whether that R is dark, or visible as electron-bound matter.

Visible matter is bound by electrons that move G-size Higgs particles from one R to another in a long chain we call a ray of radiation, One then assumes the mass (Higgs particle count) of an electron must be large as a wave-screw set of tiny ball bearings that give it least friction as it travels (literally screws itself) from one visible matter R object to another. Because of h-symmetry, one guesses that the electron is a screw shaped wave of 1/h G-size Higgs particles so that the variable n in E =nhf is a count of electrons. Letting n = 1/h as the number of electrons that are moving in pulse parallel as a unit of mass, says that E = nhf = Mf and the fact that linear energy, v2, of a pulsing ray of radiation is always numerically equal to its frequency f, we may write E = nhf = Mv2 where pulsed speed of movement is constant. 

The measured electron makes a quick impact like a particle but it is a wave---as slit experiments clearly show it to be. Einstein’s Universal Harmony (UH) is G = (R/3v2 = (M where M is an R-size spherical spin surface count of Higgs particles. We clearly experience physical reality one electron at a time and the existing Big Bang model is just as silly as it seems to most of us. Einstein desperately searched for a simplification of his theory—but wound up with just a gut felt sense of  “UH as Designer God = The Old One!” His theory is here corrected/extended. More at:

http://www.geocities.com/CapeCanaveral/Hall/2638/1MrMorganNewPhysics.doc  
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